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#include <stdio.h> Sz o) IS ankad 2y > AN
int main()
{
char st1[]="Hello";
char st2[10]1={0};
char *t, xs;
s = sti;
t = st2;
while (xt=xg)
*t++ = kg++;
printf ("%s\n", st2);
return O;
}
Sl oy S (F HelloHello (Y Hello (Y ello ()
#include <stdio.h> Sz ) IS anlad 25,5 .00
int main()
{
int x[5] = {12, 2, 11, 20, 25};
int 1, j, k;
i = --x[1];
j = x[1]++;
k = x[++i];
printf ("%d, %d, %d", i, j, k);
return 0;
}
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#include <stdio.h>

int main()

{
int x[3][4] = {2, 6, 1, 3, 9, b5, 4, 7, 6, 2, 8, 5};
printf ("%u, %u, %ul\n",x[0]1+1, *(x[0]+1) ,*x(*x(x+0)+1));
return O0;

}
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#include<stdio.h>
#define SIZE 10;

int main( void )
{
int x[SIZE], j;
for (j=0; jJ<SIZE; j++)
x[j1=3+4x%73;
for (j=0; j<SIZE; j+=3)
printf("%d, ", x[j1);
return 0;
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#include<stdio.h>

int main()

{
int a = 2, b = 3, result = 0;
sum(a, b, result);
printf ("%d\n", result);
return 0;
}
void sum(int a, int b, int result)
{
result = a + b;
+
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int al[10], =*p;

p = a;
a += b;
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#include<stdio.h>

int main()

{
union var
{

int a, b;

};
union var v;
v.a=10;
v.b=20;

printf ("%d\n", v.a);

return O0;

#include<stdio.h>

int main()

{
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enum days {MON=-1, TUE, WED };
printf ("%d, %d, %d \n", ++MON, TUE, WED);

return O;
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#include<stdio.h>
struct course

{

int courseno;

char coursename [25];

};

int main()

struct course c[]

printf ("%d ",

printf ("%s\n",

return 0;
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= { {102, "Java"},
{103, "PHP"},
{104, "DotNet"}};
c[1].courseno);
(*(c+2))->coursename) ;
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input: output:
((a+b)+c) YES
((a+b) NO
a+b) )+ ((b+c NO
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#include<iostream>
using namespace std;

template<typename Type>
class Vector

{
private:
int dim;
int capacity;
Type*x arr;
public:
Vector () {dim = 0; capacity = 1; this->arr = new Typel[1l];}
Vector (int dim); // 5 points
Type operator[](int i) const {return this->arr[i];}
Type & operator []J(int i) {return this->arr[i];}
Type* begin() {return this->arr;}
Type* end() {return this->arr + this->dim}
int dimension() {return this->dim;}
void insert(Type input, int index); // 5 points
void remove(int index); // 5 points
Vector<Type> operator+(const Vector<Type>& v2); // 10 points
s
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